Technical Support Department
Blls' 1.877.BHS.4YOU (1.877.247.4968)  BHS1.com
® M-F 8:00 A.M. - 5:00 PM. CT (GMT-6)

BE-SL/DS REPLACEMENT TRANSFORMER KIT
P/N: 80232002

_—
T e —
oo =i
OO mmmf
g ==
o0
o0
QTY _ PART# DESCRIPTION QTY _ PART# DESCRIPTION
1 £0202 TRANSFORMER-1.5KVA 1 41639001 ELECTRICAL SCHEMATIC
1 E0323 FUSE HOLDER-KLK TYPE 2 43717128-2  TRANSFORMER MOUNTING BRACKET
1 FLM10 FUSE-10A 10" PL0604 3/16" X 3/4" FOAM TAPE
1 43096008 LEGEND PLATE-"..10 AMP FUSE.." 2 HW0335 BOLT-HHCS-5/16-18 X 2 1/2"
2 HW0130 SCREW-RHMS-#8-32 X 1/2" 2 HW0323 BOLT-HHCS-5/16-18 X 1"
2 HW0132 NUT-NILN-#8-32 6 HW0106 WASHER-FLAT-5/16"-SAE
1 E0616 RESTRAINT-1/2" 4 HW0105 WASHER-LOCK-5/16"
1 E0617 LOCKNUT-CONDUIT-1/2" 4 HW0004 NUT-HEX-5/16-18
3 E0505 16-3 SO CABLE 1 80232002-i INSTALLATION INSTRUCTIONS
3 E0405 CONNECTOR 16-14 GA (NOT SHOWN)
1 E1038 TERMINAL-PUSH ON-1/4”
1 E1027 16 GA MTW-BLACK “*TRANSFORMER SHIPS ASSEMBLED **
2' E1032 16 GA MTW-GREEN

Specifications subject to change without notice.
©2012-2017 BHS, Inc.

St. Louis, MO. All Rights Reserved.

08/17



